










i:J 

LuJ 

LIST HARDWARE 

N0.22 3/8"X 3/4” 2PCS No.11.3 M6X10 1 PC 

N0.21 3/8” X11/2" 3PCS 

口

N0.23 3/8” X 3/4"(GR8} 6 PCS 

酬酬则们U
Nut 1/2” X16T 17PCS N0.27 

N0.20 3/8”X 2 7/8" 4PCS 

Nut 3/8 ” X7T 6 PCS N0.28 N0.24 1/2
” X2 3/8” 1PC 

Was he『1/2” 33PCSN0.29 NO. 25 1/2" X3 1/4'' 2 PCS 

N0.261/2
” X4

” 13PCS 

L-SC19

6 

N0.30 Round Head Bolt 3/8" x  4   1/2" 1PC



PARTS LIST 

� 
Item :No. Description: Qty. 

1 ·Center Base Frame 1 

LuJ 

2 Front Base Frame 1 

3 Rear Base Frame 1 

4 Up-Right Frame 1 

5 Front Support Tube

6 U Shape Squat Arm 1 

7 Side Support Tubes 2 

8 Foot Support Tube 1 

9 Foot Plate 

10 Weight Homs 2 

11 Safety Bar 

12 Reinforcement Plate 1 

13 Safety Spo忧erBar 

14 Steel Axis 1 

15 Collar 2 

16 Rubber Bumper 2 

17 Rubber Bumper 2 

18 Shoulder Pad - Le趾 1 

19 Shoulder Pad - Right 1 

20 Round Head Bolt 3/8” x27店” 4 

21 Round Head Bolt 3/8” 正I lt2” 3 

22 Round Head Bolt 3/8" x 3/4" 2 

23 Round Head Bolt 3/8" x 3/4” 

6 

24 Hex Bolt 1/2" x 2 3/8” 

25 Hex Bolt 1丘 ’＇ x31/4” 2 

26 HexBolt 1/2” x4" 13 

27 Nut 1泣” 17 

28 Nut 3础”

6 

29 33 
30 

Washer 1/2” 

Round Head Bolt 3/8'' x 4 1/2'' 1 

L-SC19

7 













L-SC19



                 WARRANTY Serial No.

      Thank you for purchasing one of Powertec’s products. 
                        
                         Powertec warrants that the Product you have purchased is free from defects in materials and  
                         workmanship. 

  Powertec offers a Lifetime Warranty on Structural Frame.(Excludes Surface Finish). 
             5 year warranty on Moving Frames  (Press Arms and other unspecified moving components).  
                         Two year warranty on Components (Bearings, Locking Pins, Pulleys, Cables, Slide Rods). 
                         One year warranty on Pads, Grips and other unspecified parts. 

•
•

•

•
•
•

       All parts are shipped free of charge for first 90 days of date of purchase.   
Warranty is to original purchaser only (excluding dealer). Warranty is not  
Transferable in the event you sell the product.  
Warranty claims are subject to inspection and are voided if equipment shows  
Signs of abuse or alterations made other than the ones recommended by Powertec. 
Missing parts must be reported within 30 days from receipt of unit(s).  
Proof of purchase is required; your sales receipt must show date of purchase. 
For more information on the warranty or to obtain warranty service, please contact  

             The appropriate Powertec Customer Service Department in the USA or Europe. 

                                       Powertec Inc. USA    
                                       6301 Alondra Blvd.,              

Paramount, CA 90723– USA                         
                                        
                                       Phone: (800) 250-6665    
                                       E-mail: service@powertecfitness.com   

Thank you for giving us the opportunity to fulfill your strength and fitness needs.                                 
                          
                                       

          

POWERTEC
Customer Warranty Information Sheet 

Last Name: ______________________________ First Name:______________________________________ 

Company:________________________________________________________________________________ 

Street Address:____________________________________________________________________________ 

City:____________________________________  State: ___________________  Zip Code: ______________ 

Daytime Telephone No:_____________________ Alternate Telephone No. ____________________________ 

E-Mail:___________________________________Date of Purchase: _________ Purchase Price: ___________ 

Dealer Name and Address: ___________________________________________________________________ 

Model Name & Code: _________________ Optional: Male / Female: ____ Age: ___ Occupation: __________ 

Powertec Europe 
2 rue d'Aquitaine 
68390 Sausheim – France 
Phone: + 33(0) 6 43 592 803
E-mail: contact@powertec-europe.fr



POWERTEC IS NOT LIABLE IF THE TRAINER SHOULD INJURE THEMESEL VES WHILE
USING POWERTEC EQUIPMENT OR WHILE PERFORMING THE TRAINING ROUTINE 

COMMITED TO STRONGER LIVERS

POWERTEC INC. 
6301 Alondra Blvd., 
Paramount, CA 90723 
USA
Phone:(800)250-6665

service@powertecfitness.com
www.powertecfitness.com

POWERTEC EUROPE 
2 rue d'Aquitaine 
68390 Sausheim – France 

Phone: +33 (0)6 43 592 803 
E-Mail: contact@Powertec-europe.fr 

Return Warranty Registration Card to Appropiate Powertec Adress:

Place
Stamp 
Here


	L-SC18说明书改为19-1
	L-SC18说明书改为19-2
	L-SC18说明书改为19-3
	L-SC18说明书改为19-4
	L-SC18说明书改为19-5
	L-SC18说明书改为19-6
	L-SC18说明书改为19-7
	L-SC18说明书改为19-8
	L-SC18说明书改为19-9
	L-SC18说明书改为19-10
	L-SC18说明书改为19-11
	L-SC18说明书改为19-12
	L-SC18说明书改为19-13



